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Prob 0.0251
Constant 5.453+ 0.001
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Fit A=494.1 £ 1.8cm

X2/ ndf 593.9/8
Prob 0
Constant 2.722 + 0.001
Slope 0.002024 + 0.000008
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DOWN Peak/Integral (10'3)

70
69
68
67
66
65
64
63
62
61
60

70
69
68
67
66
65
64
63
62
61
60

Input A=436.0 cm, R=0.10

I;‘IIyIIII|IIII|IIII|IIII
t
I

Il
+

— Simulation
— Data Run 1513 -

e
-+ =
o =
- =
+* -
—_ -~ -
— - =
— - -
— -
—_ o -
+ T — e -
e, T— - -
M — -
-+ —_
s — - +
. —
e —— 4+
b, - N T— + -
. _ -
g . —
——— L —
T T

1 ] 1 1 1 1 1 1 1 1 ] 1
-100 0 100
position (cm)

[

IIII|IIII|IIII|IIII|IIII|IIII|II|||||I+F|IIII|IIII

— Simulation
—— Data Run 1513

“+.
+
- +
-~ 4
- e
-+ -
+ =
+ + ——
—_— -
+ — -~
- -+ e e
- -+ — ~ ——
- —_— ——
_ " + — T
-4 L e
+ - —_ -~
— —
- —— e
- *. 4 P
— —_— ———
— -~ —_ —
— e e
b

1 I 1 I
-100 0 100
position (cm)



	Contents
	Page 1
	Page 2


